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REASONINGABILITY

Directions (Q. 1-5): In the following questions,

the symbols &, #, $, % and % are used with
the following meanings as illustrated below.

‘A3 B’ means ‘A is neither smaller nor greater
than B’.

‘A # B’ means ‘A is not smaller than B’.

‘A $ B’ means ‘A is either smaller than or equal
toB’.

‘A % B’ means ‘A is smaller than B’.

‘A% B’ means ‘A is neither smaller than nor
equal to B’.

Now, in each of the following questions, as-
suming the given statements to be true, find
which of the two conclusions | and 1l given
below them is/are definitely true.

Give answer —

1) if only conclusion I is true

2) if only conclusion Il is true

3) if either conclusion | or Il is true

4) if neither conclusion I.nor Il is true
5) if both conclusion I and I1 are true

Statements:

D& U, R$U, R%M % N
Conclusions:
L N *x U Il. D$M
Statements:

Px Q Q#R, S8R
Conclusions:
L P#S I. Q#S
Statements:

S$T, T%U, U %W
Conclusions:

L Ux S . WxT

Statements:

Dx E#F, B3 C38D

Conclusions:

L BxE . F%C
Statements:

G%HSI 18 J#K
Conclusions:
L J#H . K$lI

Directions (Q. 6-10): Study the following
information carefully and answer the
questions given below.

E,F, G H, I, Kand L are seven friends sitting
in a straight line facing north, but not
necessarily in the same order. | sits in the middle
of the row. G sits at one of the extreme ends of
the row. F does not sit at any of the extreme
ends of the row. H sits third to the left of L, who
is not the neighbour of E. F sits on the
immediate left of K.

Which of the following pairs are the immediate
neighbours of H?

1) EG 2 1L
3 EF 4 GK
5) None of these

How many persons sit to the right of E?

1) None 2) One
3) Two 4) Three
5) None of these

Who among the following sits third to the right
of the fifth person from the right end of the
row?

D E 2) |
3 F 4 H
5) None of these

If all the persons are made to sit in alphabetical
order from left to right, the position of how many
persons will remain unchanged?

1) None 2) One
3) Two 4) Three
5) None of these
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10.

11.

12.

13.

14.

Four of the following five are alike in a certain
way based on the information given above and
so form a group. Which is the one that does
not belong to that group?

1) 1 2 G
3 H 4 F
5 E

Directions (Q. 11-15): In each question below
are given two statements followed by two
conclusions numbered | and 11. You have to take
the given statements to be true even if they
seem to be at variance with commonly known
facts. Read all the conclusions and then decide
which of the given conclusions logically follows
from the given statements, disregarding
commonly known facts,

Give answer —

1) if only conclusion I follows

2) if only conclusion Il follows

3) ifeither conclusion I or 11 follows

4) if neither conclusion I nor 11 follows
5) if both conclusion I and I1 follow

Statements:

Some vegetables are mangoes.

No mango is a potato.
Conclusions:
L Some vegetables are not potatoes.
Il.  Some potatoes are not mangoes.
Statements:

No orange is sweet.

All grapes are sweets.
Conclusions:
L Some sweets are grapes.
Il.  Some grapes are not oranges.
Statements:

All schools are coachings.

Some coachings are classes.
Conclusions:
. All classes being schools is a possibility.
Il.  All classes are schools.
Statements:

Some sets are books.

All books are copies.
Conclusions:
. All sets are copies.
Il.  Some copies are sets.

15.

Statements:
All rings are circles.
Some circles are squares.
Conclusions:
L Some rings are squares.
Il.  All squares are rings.

Directions (Q. 16-20): In each question below
is given a group of letters followed by four
combinations of digits/symbols numbered (1),
(2), (3) and (4). You have to find out which of
the combinations correctly represents the
group of letters based on the following coding
system and mark the number of that
combination as the answer. If none of the four
combinations correctly represents the group
of letters, mark 5), i.e., “None of these’, as the
answer.

Letter [ T|G(E|L|P[I|C[B| R|A|Q|M|JU|H]|J

Digit/ 0
Symb0|©#ﬂn973*$ 1{812|6(4]|@|5

16.

17.

18.

19.

20.

Conditions:

(i) If both the first and the last letter of the
group are vowels, their codes are to be
interchanged.

(i) If the first letter is a consonant and the
last letter is a vowel, both are to be coded
as the code for the consonant.

ERHBMT

1) %l@%$6© 2) %1$@6©
3 ©1$@6© 4) @%1$6©
5) None of these

PQGALE

1) 72#89% 2) T2#897

3) 72%#97 4) 27#892

5) None of these

EMTAHA

1) 8068@8 2) 360#83

3) 86C8@3 4) 86©8@%
5) None of these

BQRLHA

1) 8219@% 2) $219@8

3) $219@$% 4) 82198@

5) None of these

RGMALB

1) 1#6891 2) $#6891

3) 16#89% 4) $#689%

5) None of these
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21.

22,

23.

24,

25.

Directions (Q. 21-22): Study the following in-
formation carefully and answer the questions
given below.

‘A-B’ means ‘A is daughter of B’

‘A + B’ means ‘A is wife of B’

‘A + B’ means ‘A is father of B’

‘A x B’ means ‘Aisson of B’

How is S related to P in the given expression
‘P+R +S+T'?

1) Son
3) Daughter
5) None of these

2) Sister
4) Can’tbe determined

In the expression ‘M —Q + T” how is M related to T?

1) Father 2) Son
3) Daughter 4) Mother
5) None of these

How many such pairs of letter are there in the
word SENDING, each of which has as many
letters between them as in the English
alphabet?

1) One
3) Three
5) None of these

2) Two
4) Four

Inacertain code language THEN is written as GSVM.
How is WORLD written in that code language?

1) XLIOW 2) DLIOW
3) LWIWO 4) WOILD
5) None of these

Which of the following will come-in place of
question marks (?) in the following series based
on the English alphabetical series?

CAB FDE IGH ?

1) LK 2) LMN
3) KIL 4) MKL
5) None of these

Directions (Q. 26-30): Study the following in-
formation carefully and answer the questions
given below.

There are seven family membersA, B, C, D, E,
F and G. All of them start a business together.
There are three females in the family and two mar-
ried couples. Each of them is going to a different
city, viz Kolkata, Patna, Ranchi, Kanpur, Varanasi,
Jaipur and Bengaluru, to promote their business.
B goes to Kolkata and is father of E. F goes to
Ranchi and is grandfather of E. C goes to Jaipur.
A goes neither to Kanpur nor to Bengaluru. G
goes to Varanasi and is son of D. C is hot mother
of E and D is not married to B. No female member
goes to Bengaluru. C is sister of E.

26.

27.

28.

29.

30.

3L

32.

33.

34.

35.

A goes to which of the following cities?

2) Patna
4) Can’tbe determined

1) Jaipur
3) Varanasi
5) None of these

What is the relation between F and A?

1) Fisfather-in-law of A
2) A is daughter of F

3) Fis grandfather of A
4) Aissister of F

5) None of these

Who among the following goes to Bengaluru?

) G 2 A
3 E 4 D
5) None of these

How is E related to D?

1) Son
3) Husband
5) None of these

2) Daughter
4) Grandson

Who among the following is a couple?

1) CE 2 AB
3 GD 4 FA
5) None of these

Directions (Q. 31-35): Study the following in-
formation carefully and answer the questions
given below.

In a certain code language ‘go and sit’ is
written as ‘padana’, ‘come with me’ is written
as ‘sarata’, ‘sit with her’ is written as ‘la da
sa’, and ‘you can go’ is written as ‘pa ha ja’.

What is the code for ‘go’?
1 ja 2) ha

3) pa 4) na
5) None of these

‘you can come’ can be written as

1) jahata 2) taraha
3) hajara 4) Either1)or3)
5) None of these

What is the code for ‘you’?

D ja 2) pa
3 la 4) ha
5) Can’t be determined

What does ‘la’ stand for?

1) with 2) her
3) and 4) can
5) None of these

What is the code for ‘come’?

1) ta 2) ra
3 sa 4) Either1)or2)
5) None of these
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(1-5) Given
do=[#o2|$><
% —o>< | ko>
1. (@ Givenstatements:
bD=U .. (i)
R<U .. (i)
R<M>N ... (iii)

2. @

30

Combining all these statements, we get
D=U2>=R<M>N

We can’t compare D and M or, N and U.

Hence neither conclusion | nor I1 is true.

Given statements:

P>Q . )
Q=R .. (ii)
S=R .. (iii)

Combining all these statements, we get

Q>S

P>S
Hence only conclusion Il is true.

Butl (P = S) is not true.

Given statements:

S<T .. )
T<U .. (ii)
usw .. (iii)

Combining all these statements, we get

S<u

I I
S < T < U > W
I |

We can’t compare T and W.
Hence Il is not true.
Again,S<UorU >Sistrue.

Hence | is true

(6-10)

10.
11.

®)

®)

@
©)
®

@

@
@

Given statements:
D>E>F ... 0]
B=C=D ... (i)

Combining all these statements, we get

C>F

I |
B =C=0D>E >F
I |

B>E

Hence both conclusion | (B % E)
and Il (F % C) are true.
Given statements:
G<H=<I .. ()
I=J>K .. (i)

Combining all these statements, we get

| >KorK<I

H<JorJ>H
Hence both conclusion | and Il are true.

G HEI L

F K

Facing North

Four
(5-3=) 2nd from the right, ie., F.
G H E |

L F K

After rearranging in alphabetical order,

E F G I K L

No person remains at the same position.
Others are not at extreme ends.

Some vegetables are mangoes (1) + No mango
isapotato (E) = | + E = O = Some vegetables
are not potatoes.

Hence conclusion | follows.
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12,

13.

14.

15.

16.

17.

18.

19.

20.

®)

@

@)

“

@

@)

“)

©)

©)

Again, No mango is a potato — conversion
— No potato is a mango.

Hence conclusion Il does not follow.

No orange is sweet (E) + (All grapes are
sweets — conversion — Some sweets are
grapes (I) = E + 1 = O* = Some grapes are not
oranges.

Hence, both conclusion | and 11 follow.

All schools are coachings (A) + Some
coachings are classes (I) = A+ 1 = No
conclusion. But the possibility in I exists.

Hence conclusion | follows. But 1l does not
follow.

Some sets are books (1) + All books are copies
(A) =1+A=1=Some sets are copies —
conversion — some copies are sets.

Hence conclusion Il follows. But conclusion
| does not follow.

All rings are circles (A) + Some circles are
squares (1) =A+ 1 = No conclusion.

Hence neither conclusion I nor Il follows.

E R
L
% 1

® « T
B — W
o «—Z
@ « -+

Condition (ii) apples

PQGATLE
NN
7 2 # 8 9 7

Condition (i) apples

EMTAHA
AR R R
8 6 © 8 @ %

Condition (ii) apples

BQRLHA
4Ll
$ 219 @ $
RGMATLB
N
1 # 6 8 9 $

2. ) PH<eRM®

SE) & T(+)
Hence, S is daughter of P.
Q) = T(+)

M(-)

2. (3

Hence, T is father of M.

v ]

7< I E)

2. ()

N — Opposite letters

(26-30):

Person
A1)
B
T
D)
EiH
Fi
G

City
Patna

Foolkata

Jaipu

Eanpur

Bengzalurm
Ranchi

Waranasi

Family Tree
F(+) < D(-)
AF) = B(+)  G(+)

CH) EM®

. 2 27. 1) 28 (3 20 (@ 0.

@)
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(31-35):
goandsit - padana ... 0]
come withme — sarata .. (i)
sitwithher - ladasa ... (iii)
youcango — pahaja ... (iv)

From (i) and (iii),

sit—>da .. (v)
From (i) and (iv),
go—> pa .. (vi)

From (i), (v) and (vi),

and > na ... (vii)
From (ii) and (iii)

with - sa .. (viii)

From (ii) and (viii),

come/me — rafta .. (i)
From (iii), (v) and (viii),

her—-la .. (x)
From (iv) and (vi),

you/can — halja ... (xi)

3. 3 32 @ 33 (6B # 2 B @
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